
Id 1

Question Find the missing number.
ललप्त ससंख्यया जयात करर? 

A 160

B 25

C 32

D 52

Answer D



Id 2

Question Read the following information carefully and answer the questions given 
below it:
In a car exhibition, seven cars of seven different companies viz. Cardilac, 
Ambassador, Fiat, Maruti, Mercedes, Bedford and Fargo were displayed 
in a row, facing east such that:
(1) Cardilac car was to the immediate right of Fargo.
(2) Fargo was fourth to the right of Fiat.
(3) Maruti car was between Ambassador and Bedford.
(4) Fiat, which was third to the left of Ambassador car, was at one of the 
ends.
Which of the following groups of cars is to the right of the Ambassador 
car?
ननिम्निनलनखित जयानिकयाररी कको ध्ययानि ससे पढर और निरीचसे नदिए गए पपरश्नि कया उत्तर दिर:
एक कयार पपरदिरर्शनिरी मर, सयात अलग-अलग कसं पननियकोसं करी सयात कयारकोसं कको कयानरर्शललैक, ऐम्बसेसरर, 
नफिएट, मयारुनत, मनसर्शररीज, बसेरफकोरर्श और फयागकोर्श कको एक पसंनकत मर पपरदिनरर्शत नकयया गयया थया, जको 
पपरर्श करी ओर म लखि नकए हलए थरी;
(1) कयानरर्शलसेक कयार,फियागकोर्श कयार कसे  त लरन्त दियायरी थरी
(2) फियागकोर्श कयार, फिसे ट कयार कसे  दियायसे ससे चचौथरी थरी।
(3) मयारूतरी कयार,ऐम्बसेसरर र बसेरफिकोरर्श कसे  बरीच मर थरी।
(4) फिसे ट, जको नक ऐम्बसेसरर कसे  बयायसे ससे तरीसररी थरी, रह एक तरफि असंत मर थरी
कयार कसे  ननिम्निनलनखित समपहकोसं मर ससे कचौनि सया ऐम्बसेसरर कयार कसे  दियाई सं ओर हलै?

A Cardilac, Fargo and Maruti 
कयानरर्शलयाक, फियारगको और मयारुनत 

B Maruti, Bedford and Fiat 
मयारुनत, बसेरफिकोरर्श और नफिएट 

C Mercedes, Cardilac and Fargo 
मनसर्शररीज, कयानरर्शलयाक और फियारगको 

D Bedford, Cardiac and Fargo 
बसेरफिकोरर्श, कयानरर्शएक और फियारगको 

Answer C



Id 3

Question Which will be the blank term in the following series?
h_eg_fegh_eghfe_
ननिम्निनलनखित रपररसंखिलया मर नरकत पदि कचौनि सया हकोगया?
h_eg_fegh_eghfe_

A gffh 

B hhgg 

C ffgh 

D fhfg 

Answer D

Id 4

Question In these questions certain pairs, group and numbers are given out of which
all except one are similar in some manner while one is different.
Choose the odd number pair group in each of the following questions:
इनि सरयालकोसं कसे  कल छ जकोडसे, समपह और ससंख्यया नजनिमर ससे नदियया जयातया हलै मर सभरी कको छकोडकर एक 
कल छ तररीकसे  ससे नमलतसे-जललतसे हह, जबनक एक अलग हलै।
पपरत्यसेक ननिम्नि पपरश्निकोसं मर नरषम ससंख्यया य लग्म समपह चलनिर:

A 361 

B 484 

C 566 

D 529 

Answer C



Id 5

Question The figure that best represents interrelation among "Star, Moon and 
Mars".
रह आसंकडया जको तयारसे चसंदिपरमया और मसंगल कसे  बरीच असंतसर्संबसंध कया सबससे अच्छया पपरनतननिनधत्र 
करतया हलै। 

A a

B b

C c

D d

Answer B

Id 6

Question Select the appropriate options for the following questions:
FILM: ADGH :: MILK:?
ननिम्निनलनखित पपरश्नि कसे  नलए उपयलकत नरकल्पकोसं कया चयनि करर
FILM: ADGH :: MILK:?

A ADGF 

B HDGE 

C HDGF 

D HEGF 

Answer C



Id 7

Question A is B’s daughter; B is C’s mother D is C’s brother. What is the relation of 
D with A? 
A, B करी बसेटरी हलै; B, C करी मयासं हलै, D, C कया भयाई हलै। D कया A ससे कयया ससंबसंध हलै?

A Father 
नपतया  

B Grandfather 
दियादिया 

C Brother 
भयाई 

D Son 
बसेटया 

Answer C

Id 8

Question Rana goes 10 km. towards the North and then turns to the left and covers 
the distance of 4 km. Then he turns to the right and goes 5km. Then he 
goes 4 km. after turning to the right. How far is he now from the starting 
point of his journey? 
रयाणया 10 नक.मरी. उत्तर करी ओर और नफिर बयाई सं ओर म लडकर 4 नकमरी करी दिपररी तय करतया हलै। 
नफिर रह दियाई सं ओर म लडतया हलै और 5 नकमरी जयातया हलै। नफिर रह दियादाँयसे म लडनिसे कसे  बयादि 4 नकलकोमरीटर 
जयातया हलै। रह अपनिसे पपरयासंरनम्भक नबसंदि ल ससे नकतनिरी दिपररी पर हलै? 

A 5 km 
5 नकमरी 

B 4 km 
4 नकमरी 

C 15 km 
15 नकमरी 

D 10 km 
10 नकमरी 

Answer C



Id 9

Question Sohan and Mohan were coming towards each other in the morning. Sohan 
noticed that Mohan’s shadow was at Mohan’s right side, then Mohan’s 
face was in which direction? 
सकोहनि और मकोहनि सलबह एक -दिलसरसे करी ओर आ रहसे थसे | सकोहनि निसे दिसेखिया नक मकोहनि करी परछयाई 
मकोहनि करी दियाई ओर थरी, नफिर मकोहनि कया चसेहरया नकस नदिरया मर थया ?

A North 
उत्तर 

B South 
दिनक्षिण 

C East 
पपरर्श 

D West 
पनश्चम 

Answer B

Id 10

Question In each of the following questions, there is a certain relationship between 
two given words on one side. Choose the correct alternative in second 
side.
Fear : Threat :: Anger:?
ननिम्निनलनखित पपरत्यसेक पपरश्नि मर, एक तरफि दिको नदिए गए रब्दिकोसं कसे  बरीच एक ननिनश्चत ससंबसंध हलै। 
दिपसरसे पक्षि मर सहरी नरकल्प चलनिर। भय: धमकरी :: गलस्सया:?

A Compulsion 
नरररतया 

B Panic 
हलचल 

C Provocation 
उकसयारया 

D Force 
बल 

Answer C



Id 11

Question If the police is told teacher, the teacher is told politician, politician is told 
doctor, doctor is told lawyer and lawyer is told surgen, then who will 
arrest the criminals?
अगर प लनलस कको नरक्षिक कहया जयातया हलै, नरक्षिक कको रयाजनिरीनतज, रयाजनिसेतया कको रडॉकटर कहया 
जयातया हलै, रडॉकटर कको रकरील और रकरील कको सजर्शनि कहया जयातया हलै, तको अपरयानधयकोसं कको कचौनि 
नगरफ्तयार करसेगया? 

A Teacher 
नरक्षिक 

B Doctor 
रडॉकटर 

C Police 
पलनलस 

D Lawyer 
रकरील 

Answer A

Id 12

Question From the given alternatives select the word which be formed using the 
letters of the given word.
OPERATION
नदिए गए नरकल्पकोसं मर ससे उस रब्दि कया चयनि करर नजससे नदिए गए रब्दि कसे  अक्षिरकोसं कया उपयकोग 
करकसे  बनियायया गयया हलै |OPERATION

A CAPTION 

B ROTATION 

C OPTION 

D NATION 

Answer C



Id 13

Question In the following figure, how many educated people are employed?
ननिम्निनलनखित आकर नत मर, नकतनिसे नरनक्षित लकोग कयायर्शरत हह? 

A 18

B 20

C 15

D 9

Answer C

Id 14

Question Find the number of triangles in the figure.
ननिम्नि नचतपर मर नतपरभ लजकोसं करी ससंख्यया जयात करर? 

A 20

B 24

C 28

D 32

Answer C



Id 15

Question Two men and two women are playing cards. They have sit at the North, 
East, South and West of the table. None of the woman’s face is in the 
West. Persons sitting in front of each other are not of same gender. One of 
the man’s face is in the South. Women’s face are in- 
दिको पपरूष तथया दिको मनहलयाएसं तयार खिसेल रहसे हलै। रसे टसेबल कसे  उत्तर, पपरर्श, दिनक्षिण और पनश्चम मर हलै 
ककोई भरी  मनहलया कया म लदाँह पनश्चम मर निहरी सं हलै व्यनकत जको एक दिपसरसे सयामनिसे बलैठसे हलै रह समयानि नलसंग 
कसे  निहरी सं हलै एक प लरूष कया चसेहरया दिनक्षिण मर हह तको मनहलयाओसं कसे  चसेहरसे हलै। 

A South and East 
दिनक्षिण और पपरर्श 

B North and East 
उत्तर और पपरर्श 

C North and West 
उत्तर और पनश्चम 

D East and West 
पपरर्श और पनश्चम 

Answer B

Id 16-20

Question Type Comprehension

Main Text Choose the word /phrases which is most similar in meaning to 
the word phrases from the following options in each question. 

Question Proscribe 

A Allow

B Prescribe

C Banish

D Advance

Answer C

Question Prone 

A Thrown Forward

B Disease

C Supine

D Inactive

Answer A



Question Gluttony 

A Happiness

B Contentment

C Satisfaction

D Greed

Answer D

Question Sozzled 

A Cultured

B Drunk

C Moderate

D Burning

Answer B

Question Deplete 

A Take away

B Fill

C Make Greater

D To exhaust 

Answer D



Id 21

Question From which part of opium plant we get morphine?
अफिरीम कसे  नकस भयाग मर मचौनफिर्श नि पपरयाप्त हकोतया हलै ?

A Leaves
पत्तसे 

B Stem
तनिया 

C Bark
छयाल 

D Fruit coat 
फिल आररण 

Answer D



Id 22

Question Bark of this tree is used as a condiment-
नकस पसेड करी छयाल कया उपयकोग मसयालसे मर नकयया जयातया हलै ?

A Cinnamon
दियालचरीनिरी 

B Clove
लचौसंग 

C Neem
निरीम 

D Palm 
तयाड कया ररक्षि 

Answer A



Id 23

Questio
n

Cellulose is an example of which kind of  nutrient?
ससेल्य ललकोज नकस पपरकयार कसे  पकोषकतत्र कया उदिहयारण हलै ?

A Fat
रसया 

B Carbohydrate
कयाबकोर्शहयाइरपरसेट 

C Protein 
पपरकोटरीनि 

D Vitamin 
नरटयानमनि 

Answer B



Id 24

Question The smallest flowering plant is-
सबससे छकोटया फिप ल रयालया पचौधया हलै- 

A Wolffia
रकोनल्फिआ 

B Lemma
लसेम्मया 

C Azolla
अजकोल्लया 

D Ficus
नफिकस 

Answer A



Id 25

Question The tallest plant in the world is-
दिलननियया कया सबससे लसंबया पचौधया हलै - 

A Eucalyptus
यलकनलप्टलस 

B Pierocarpus 
पलैरकोकयापर्शस 

C Polyalthia
पडॉयलटरीए 

D Tectona
टसेकटनिया 

Answer A



Id 26

Question Sun loving trees are also called as?
नकस पपरकयार कसे  पचौधसे सपयर्श पपरसेमरी पचौधसे कहलयातसे हह ?

A Xerophytes
जसेरकोफियाइट 

B Heliophytes
हसेनलयकोफियाइट 

C Saprophytes
सपपरकोफियाइट 

D Halophytes
हलैलकोफियाइट 

Answer B



Id 27

Question Which of the following is the largest cell of human body?
ननिम्निनलनखित मर ससे कचौनि सरी मयानिर रररीर कया सबससे बडरी ककोनरकया हलै 

A Nerve cell
तसंनतपरकया ककोनरकया 

B Acetabularia
अस्तब ललयानरअ 

C Female egg
मयादिया असंरसे 

D Human male sperm
मयानिर प लरुष रलकप रयाण ल 

Answer A 



Id 28

Question Smallest cell in the human  male?
मयानिर प लरुष मर सबससे छकोटरी ककोनरकया 

A Nerve cell
तसंनतपरकया ककोनरकया 

B RBC

C WBC

D Sperm
रलकप रयाण ल 

Answer D



Id 29

Question Largest organ of the human body
मयानिर रररीररी कया सबससे बडया असंग 

A Stomach 
पसेट 

B Liver
यकर त 

C Thyroid 
थयायरयाइर 

D Pancreas 
अग्नियारय 

Answer B



Id 30

Question Gas filled with LPG to detect any leakage 
नकसरी भरी नरसयार कया पतया लगयानिसे कसे  नलए LPG मर भररी गलैस 

A Ethyl mercaptan
इथयाइल मरकप्टनि 

B Methyl mercaptan
नमथयाइल मरकप्टनि 

C Ethane mercaptan
इथसेनि मरकप्टनि 

D Methane mercaptan
नमथसेनि मरकप्टनि 

Answer A 



Id 31

Question Lightest gas which is filled in balloon.
गलब्बयारसे मर भररी जयानिसे रयालरी सबससे हल्करी गलैस 

A Hydrogen 
हयाइरपरकोजनि 

B Nitrogen 
नियाइटपरकोजनि 

C Helium
हरीनलयम 

D Oxygen
ऑकसरीजनि 

Answer C



Id 32

Question Chemical formula of Producer gas 
पपरकोड्यपसर गलैस कसे  रयासयायननिक सपतपर 

A Co+ H 2

B No+ H2

C Co+ N 2

D No+ N 2

Answer C 



Id 33

Question Bubble in air or glass, is an example of 
हरया यया कयासंच मर ब ललब ललया, एक उदियाहरण हलै 

A Concave mirror
अरतल दिपर्शण 

B Convex mirror
उत्तल दिपर्शण 

C Concave lens
अरतल लरस 

D Convex lens
उत्तल लरस 

Answer C



Id 34

Question Gamma ( γ ) rays were discovered by 
गयामया ( γ ) नकरणर नकसकसे  दयारया खिकोजरी गई 

A Roentgen 
रडॉन्टगनि 

B Henri Bacquvrel
हसेनिररी बलैकल ररसेल 

C Paul Villard
पडॉल नरलयारर्श 

D Rutherford 
रदिरफिकोरर्श 

Answer C



Id 35

Question Lightest Element of periodic table 
आरनधक सयारणरी कया सबससे हल्कया तत्र 

A Osmium
ओसनमयम 

B Lithium
नलनथयम 

C Gallium
गलैनलयम 

D Mercury
पयारया 

Answer B



Id 36

Question Hardest element of the periodic table 
आरतर्श सयारणरी कया सबससे कठकोर तत्र 

A Platinum
प्ललैनटनिम 

B Diamond
हरीरया 

C Oganesson
ओगनिसेसकोसं 

D Lanthanide
लरथसेनियाइर 

Answer B



Id 37

Question The  phenomena of Electro magnetism was first explained by 
इलसेकटपरकोमलैगपरसेनटज्म करी घटनिया कको सबससे पहलसे समझयायया गयया थया 

A Maxwell
मलैकसरसेल 

B Faraday
फिलै रयारसे 

C Oersted
एस्टर 

D Simon ohm 
सयाइमनि ओहम  

Answer C



Id 38

Question Father of vaccination-
टरीकयाकरण कसे  जनिक -

A Edward Jenner 
एरररर्श जसेनिर 

B Robert Koch 
रडॉबटर्श ककोच 

C Louis Pasteur
ललई पयाश्र्चर 

D Alexander flaming
अलसेकजररर फ्लसेनमसंग 

Answer A 



Id 39

Question Therm is the unit of?
थमर्श नकसकरी इकयाई हलै ?

A Power
रनकत करी 

B Heat
ऊष्मया करी 

C Light
पपरकयार करी 

D Distance
दिपररी करी 

Answer B

Id 40

Question The unit of plank's constant is
प्लयासंक ननियतयासंक करी इकयाई हलै - 

A Js

B Js−1

C Js−2

D Js2

Answer A 



Id 41

Question Relative humidity is expressed in terms of 
सयापसेनक्षिक आदिपरर्शतया कको नकस रूप मर व्यकत नकयया जयातया हलै - 

A Gram
गपरयाम 

B Kilogram
नकलकोगपरयाम 

C Percentage
पपरनतरत 

D Ration
अनिलपयात 

Answer C



Id 42

Question What is the SI unit of temperature?
तयापमयानि करी एस.आई. (SI) इकयाई कयया हलै ?

A Kelvin
कसे नल्रनि 

B Joule
जपल 

C Celsius
ससेनल्सयस 

D Fahrenheit
फियारसेनिहयाइट 

Answer A 



Id 43

Question Photon is the fundamental unit/quantum of 
फिकोटडॉनि ननिम्निनलनखित मर ससे नकसकरी मपलभपत इकयाई हलै -

A Gravitation 
गलरुत्रयाकषर्शण 

B Electricity 
नरदलतप 

C Magnetism
चलम्बकत्र 

D Light 
पपरकयार 

Answer D 



Id 44

Question A light year is a  unit of 
एक पपरकयार रषर्श नकसकरी इकयाई हलै ?

A Time
समय 

B Distance
दिपररी 

C Speed of light
पपरकयार करी चयाल 

D Intensity of light 
पपरकयार करी तरीरपरतया 

Answer B 



Id 45

Question Lumen is a unit of -
ल्यपमनि इकयाई हलै - 

A Luminous Flux
ज्यकोनत फ्लकस करी 

B Luminous Intensity 
ज्यकोत तरीरपरतयाकरी 

C Luminous density 
पपरदिरीनप्त घनित्र करी 

D Brightness
चमक करी 

Answer A



Id 46

Question Hertz is the unit of ---------
हटजर्श इकयाई हलै -  

A Frequency
तरसंगको करी आररनत्त 

B wavelength
तरसंग दिलैधयर्श 

C Intensity 
तरसंगको करी तरीरपरतया 

D Clarity of waves
तरसंगको करी स्पष्टतया 

Answer A 



Id 47

Question The unit noise pollution (level) is - 
ध्रननि पपरदिपषण करी इकयाई कयया हलै ?

A Decibel
रसेसरीबल 

B Decimal
रसेसरीमल 

C Ppm
परी.परी.एम

D None of the above
उपरकोकत मर ससे ककोई निहरी सं 

Answer A



Id 48

Question Formula of washing soda 
रडॉनरसंग सकोरया कया फिडॉमपर्शलया 

A Na 2CO3

B CaCO3

C NaHCO3

D Ca(OH )2

Answer A



Id 49

Question The SI unit of intensity of sound is -----------
ध्रननि करी तरीरपरतया करी एस. आय. इकयाई हलै-------

A Watt per square meter 
रलैट पपरनत रगर्श मरीटर

B Joule per square meter
जपल पपरनत रगर्श मरीटर

C Newton per square meter
न्यपटनि पपरनत रगर्श मरीटर

D Tesla per square meter
टसेसलया पपरनत रगर्श मरीटर

Answer A



Id 50

Question Formula of calcium Nitrate?
कसे नल्रयम नियाइटपरसेट कया सपतपर ?

A Ca2 NO3

B Ca(NO3)2

C Ca2(NO2)

D Ca3(NO3)2

Answer B



Id 51

Question Rate of  change of momentum is 
ससंरसेग पनररतर्शनि करी दिर नकसकसे  समयानि हलै ?

A Area
क्षिसेतपरफिल 

B Pressure
दिबयार 

C Force 
बल 

D Velocity 
रसेग 

Answer C 



Id 52

Question What is impulse equal to?
ननिम्नि मर कयया आरसेग कसे  बरयाबर हलै?

A Change in momentum
ससंरसेग पनररतर्शनि 

B Change in force
बल मर पनररतर्शनि 

C Change in velocity
रसेग मर पनररतर्शनि 

D Change in acceleration
त्ररण मर पनररतर्शनि 

Answer A 



Id 53

Question Which of the following  is not a unit of speed?
ननिम्निनलनखित मर ससे कयया चयाल करी इकयाई निहरी सं हलै ?

A m/s

B km/hr

C m2
/hr

D cm/s

Answer C



Id 54

Question What is the Si unit of Torque?
आघपणर्श (टयाकर्श ) करी एस.आई.यपननिट हलै - 

A Newton/meter
न्यपटनि पपरनत मरीटर 

B Newton meter
न्यपटनि मरीटर 

C Newton second
न्यपटनि ससेकसे ण्र 

D Newton/meter squared
न्यपटनि पपरनत रगर्श मरीटर 

Answer B



Id 55

Question Which of the following quantity is a measure of inertia?
ननिम्निनलनखित मर कचौनि -सरी रयानर जडतया करी मयापक इकयाई हलै ?

A Velocity 
रसेग 

B Acceleration
त्ररण 

C Mass
दिपरव्यमयानि 

D Weight 
भयार 

Answer C



Id 56

Question What is the SI unit of Force?
बल  करी एस. आई . इकयाई  कयया हलै ?

A Pascal 
पयास्कल 

B Boyle
बडॉयल 

C Newton
न्यपटनि 

D Watt
रयाट  

Answer C 



Id 57

Question The SI unit of  acceleration is ---------------
 त्ररण करी एस. आई. इकयाई कयया हलै ?

A Meters per seconds squared
मरीटर पपरनत रगर्श ससेकर र 

B Meters per second 
मरीटर पपरनत ससेकर र 

C Seconds per meter
ससेकर र पपरनत मरीटर 

D Seconds per meter squared
ससेकर र पपरनत रगर्श मरीटर 

Answer A



Id 58

Question One Kilowatt hour is equal to --------------
एक नकलकोरयाट घसंटसे ------------ मसेगया जपल कसे  बरयाबर हलै |

A 3.6 Mega Joule
3.6  मसेगया जपल 

B 3.8 Mega Joule
3.8  मसेगया जपल 

C 3.2 Mega Joule 
3.2  मसेगया जपल 

D 4.0 Mega Joule
4.0   मसेगया जपल 

Answer A



Id 59

Question A Kilowatt-hour is unit of 
नकलको रयाट घसंटया इकयाई हलै ----

A Electric Energy 
नरदलतप ऊजयार्श 

B Electric Power
नरदलतप क्षिमतया 

C Electric charge
नरदलतप आरसेर 

D Electric current 
नरदलतप धयारया 

Answer A



Id 60

Question Energy in the foods can be measured in which units?
भकोजनि करी ऊजयार्श नकस इकयाई दयारया मयापरी जयातरी हलै ?

A Kelvin
कसे नल्रनि 

B Joule
जपल 

C Calorie
कलै लकोररी 

D Celsius
ससेनल्सयस 

Answer C 

Id 61

Question आग मर घरी रयालनिया –

A रलह अरसर पलैर अडचनि पडनिया 

B यज करनिया 

C नकसरी कसे  कप रकोध कको भडकयानिया 

D मपल्यरयानि रस्त ल कको निष्ट करनिया 

Answer C 



Id 62

Question भयारतरषर्श मर नहन्दिरी कको आप नकस रगर्श मर रखिरगसे ?

A रयाजभयाषया  

B रयाष्टपरभयाषया 

C नरभयाषया 

D तकननिकरी भयाषया 

Answer B



Id 63

Question आरया  -

A दिलरयारया  

B ननिरयारया 

C हतयारया 

D निया-उम्मरीदि 

Answer B



Id 64

Question नहसंदिरी मर मपलततः रणकोर्श करी ससंख्यया नकतनिरी हलै?

A 50 

B 51 

C 52 

D 53 

Answer C



Id 65

Question जको रतपरु करी हत्यया करतया हलै |

A रतपरुघ्नि  

B निश्र्रर 

C जन्मयासंध 

D ननिदिर्शय 

Answer A



Id 66

Question The cost price of an article is Rs. 800. After allowing a discount of 10 %, a
gain of 12.5 % is made. Then the marked price of the article is
एक रस्तल कया कप रय मपल्य 800 रु हलै। 10 % छप ट दिसेनिसे पर 12.5 % लयाभ हकोतया हलै, तको रस्तल कया
असंनकत मपल्य जयात करर।

A Rs. 1,000 

B Rs.1,100 

C Rs. 1,200 

D Rs. 1,300 

Answer A

Id 67

Question The length of one side of a rhombus is 6.5 cm and its altitude is 10 cm. If 
the length of its diagonal be 26 cm, the length of the other diagonal will be
:
नकसरी समचतलभ लर्शज करी भ लजया 6.5 ससेमरी., तथया उसकया ररीषर्शलम्ब 10 ससेमरी. हलै । यनदि उसकसे  एक 
नरकणर्श करी लम्बयाई 26 ससेमरी. हको, तको दिपसरसे नरकणर्श करी लम्बयाई जयात करर? 

A 5 cm

B 10 cm

C 6.5 cm

D 26 cm

Answer A



Id 68

Question A can give 40 meters start to B and 70 meters to C in a race of one 
kilometer how many meters start can B give to C in a race of one 
kilometer?
1 नकमरी. करी दिचौर मर A, B कको 40 मरीटर तथया C कको 70 मरीटर करी बढत दिसे सकतया हलै उसरी 
दिचौड मर B, C कको नकतनिरी बढत दिसे सकतया हलै? 

A  30meter

B 700
29

meter

C 31
1
4

meter

D 32meter

Answer C

Id 69

Question What is the HCF of 2.04, 0.24 and 0.8 ?
2.04, 0.24 और 0.8 कया HCF कयया हलै?

A 1

B 2

C 0.02

D 0.04

Answer D

Id 70

Question The total surface area of a hemisphere is 166.23 sq cm, find its radius? 
एक गकोलयाधर्श कसे  कल ल सतह कया क्षिसेतपरफिल 166.23 रगर्श ससे.मरी हलै। उसकरी नतपरज्यया जयात करको 

A 4.2 cm 

B 8.4 cm 

C 1.4 cm 

D 2.1 cm 

Answer A



Id 71

Question The smallest possible three - place decimal is:
तरीनि असंककोसं करी सबससे छकोटरी सम्भरततः दिरमलर ससंख्यया हह।

A 0.012 

B 0.123 

C 0.111 

D None of the above 

Answer D

Id 72

Question Find the next term in the following series.
Z26, X24, V22, ____ 
ननिम्निनलनखित रपररसंखिलया मर अगलया रब्दि खिकोजर:
Z26, X24, V22, ____ 

A T20

B W23

C K15

D J10

Answer A

Id 73

Question Unit digit in (264)
102

+ (264)
103 is : 

(264)
102

+ (264)
103 is मर इकयाई कया असंक हलै। 

A 0

B 4

C 6

D 8

Answer A



Id 74

Question The length of the intercept of the graph of the equation 9x – 12y = 108 
between the two axes is
समरीकरण 9x - 12y = 108 कसे  गपरयाफि दयारया दिको अक्षिकोसं कसे  बरीच बनिसे असंत : खिण्र करी लम्बयाई 
नकतनिरी हकोगरी ? 

A 15 units 

B 9 units 

C 12 units 

D 18 units 

Answer A

Id 75

Question What angle is made by minute hand in 29 sec?
नमनिट करी सलई दयारया 29 ससेकसं ण्र मर बनियायया गयया ककोण कयया हकोगया?

A 1740°

B 2.9° 

C 29° 

D 260° 

Answer B



Id 76

Question In a given circle, the chord PQ is of length 18 cm. AB is the perpendicular 
bisector of PQ at M. If MB=3. Find the length of AB? 
नदिए गए ररत मर PQ जरीरया करी लसंबयाई 18 ससेमरी हलै। AB एक लसंब समनदभयाजक हलै, जको PQ कको 
M नबसंदि ल पर कयाटतया हलै। यनदि MB=3 ससेमरी. हलै तको AB करी लसंबयाई जयात करकोसं? 

A 25 cm

B 30 cm

C 28 cm

D 27 cm 

Answer B

Id 77

Question If a=x+y, b=x-y, c=x+2y, then a2
+ b2

+ c2
−ab−bc−ca is 

यनदि a=x+y, b=x-y, c=x+2y हलै तको a2
+ b2

+ c2
−ab−bc−ca कया मयानि हलै 

A 4y2

B 5y2

C 6y2

D 7y2

Answer D



Id 78

Question In how many different ways can letters of the word ‘SECOND’ be 
arranged? 
‘SECOND’  रब्दि कसे  अक्षिरको कको नकतनिसे अलग -अलग तररीकको ससे व्यरनस्थत नकयया जया 
सकतया हलै ?

A 720

B 120

C 5040

D 270

Answer A

Id 79

Question If the difference between the roots of the equation AX 2
+ BX + C=0 is 4, 

then which of the following is TRUE? 
यनदि समरीकरण AX 2

+ BX + C=0 कसे  मपलकोसं कया असंतर 4 हलै,तको ननिम्निनलनखित मर ससे कचौनि-सया 
सत्य हलै? 

A B2
−16A2

=4AC+ 4B2

B B2
−10A2

=4AC+ 6A2

C B2
−8 A2

=4AC+ 10A 2

D B2
−16A2

=4Ac
+ 8B2

Answer B

Id 80

Question The top of two poles of height 24m and 36 m are connected by a wire. If 
the wire makes an angle of 60° with the horizontal, then the length of the 
wire is
24 मरी. तथया 36 मरी. कसे  उच्च नबसंदि लओसं कको एक तयार ससे जकोडया जयातया हलै । यनदि तयार क्षिलैनतज ससे 
60°कया ककोण बनियातया हलै। तब तयार करी लम्बयाई जयात करर । 

A 6 m 

B 8 √3 m 

C 8 m 

D 6√3 m 

Answer B



Id 81

Question The value of sec4 A(1−sin 4 A)−2tan2 A is: 
  sec4 A(1−sin 4 A)−2tan2 A      कया मयानि हकोगया: 

A 1
2

B 0

C 2

D 1

Answer D

Id 82

Question if 5432*7 is divisible by 9, then the digit in place of * is : 
यनदि 5432*7, 9 ससे नरभयाज्य हको, तको * कसे  स्थयानि पर असंक हकोगया 

A 0

B 1

C 6

D 9

Answer C 

Id 83

Question The marked price of an article is Rs. 200. A discount of is allowed on the 
marked price and a profit of 25% is made. The cost price of the article is
एक रस्तल कया असंनकत मपल्य रु 200 हलै, तको असंनकत मपल्य परकरी छप ट दिसेनिसे कसे  बयादि भरी 25% लयाभ 
पपरयाप्त हकोतया हलै, तको रस्तल कया कप रय मपल्य कयया हलै?

A 200

B 175

C 120

D 140

Answer D



Id 84

Question A fan is listed at Rs. 1500 and a discount of 20% is offered on the list 
price. What additional discount must be offered to the customer now to 
bring the net price to Rs 1104
एक पसंखिसे कया असंनकत मपल्य रु1500 हलै और असंनकत मपल्य पर 20 %  करी छपट दिरी जयातरी हलै, तको 
गपरयाहक कको रु 1104 मर खिररीदिनिसे कसे  नलए इसकसे  अनतनरकत कचौनि- सरी छप ट दिरी जयातरी हलै?

A 8%

B 10%

C 15%

D 12%

Answer A

Id 85

Question When you see the mirror image of a clock, it shows 11 to 20 minutes in it, 
then what is the actual time of the clock.
नकसरी घडरी कया दिपर्शण पपरनतनबम्ब दिसेखिनिसे पर उसमर 11 बजकर 20 नमनिट नदिखियाई दिसेतसे हह तको घडरी
कया रयास्तनरक समय नकतनिया हलै|

A 12.11

B 1.40

C 12.40

D 6.30

Answer C



Id 86

Question Azizbek Ashurov was awarded the 2019 UN High Commissioner for 
Refugees (UNHCR) prestigious Nansen Award. He is from which 
country?
अनझझबसेक अरलरकोर कको ररणयानथर्शयकोसं कसे  नलए २०१९ ससंय लकत रयाष्टपर उच्चयाय लकत 
(यपएनिएचसरीआर) पपरनतनष्ठत नियानिससेनि प लरस्कयार ससे सम्मयाननित नकयया गयया | रह नकस दिसेर कया 
हलै?

A Ethiopia 
इनथयकोनपयया  

B Kyrgyzstan 
नकनगर्शस्तयानि 

C  America 
अमसेनरकया 

D Japan 
जयापयानि

Answer B

Id 87

Question Reserve Bank of India has reduced the real GDP growth for FY 2019-20 
from 6.9% to _________.
भयारतरीय नरजरर्श बहक निसे नरत्त रषर्श २०१९-२० कसे  नलए रयास्तनरक जरीररीपरी नरकयास दिर 6.9% ससे 
घटयाकर _________ कर नदियया हलै | 

A 6.1%

B 5.8 %

C 6.0%

D 6.2%

Answer A 



Id 88

Question Which State launched the Pragati Rath of the HDFC bank?
नकस रयाज्य निसे एचररीएफिसरी बहक कसे  पपरगनत रथ कको लडॉन्च नकयया?

A Punjab 
पसंजयाब 

B Himachal Pradesh 
नहमयाचल पपरदिसेर 

C Uttar Pradesh 
उत्तर पपरदिसेर 

D Haryana 
हनरययाणया 

Answer B 

Id 89

Question Who has been appointed as the Chief Justice of Guwahati High Court?
नकससे ग लरयाहयाटरी उच्च न्ययाययालय कसे  म लख्य न्ययाययाधरीर कसे  रूप मर ननिय लकत नकयया गयया हलै?

A Ajay Lamba 
अजय लयासंबया 

B Indrajit Mahanty 
इसंदिपरजरीत महसंतरी 

C A mani Kuma 
ए मनण कल मया 

D Ravi Shanker Jha
रनर रसंकर झया 

Answer A 



Id 90

Question What is the Name of the typhoon which recently hit Tokyo, capital of 
Japan?
उस तपफियानि कया नियाम कयया हलै नजसनिसे हयाल हरी मर जयापयानि करी रयाजधयानिरी टकोकयको कको प परभनरत नकयया
?

A Haiyan 
हलैययानि 

B Hagibis 
हलैनगबरीज 

C Mangkhut 
मसंगखिलट 

D Irma
इरमया 

Answer B 

Id 91

Question As per the announcement by Indian (IR), Indian Railways will become a 
net-zero carbon emitter by which year?
भयारतरीय रसेलरसे (आईआए) करी घकोषणया कसे  अनिलसयार, भयारतरीय रसेलरसे नकस रषर्श तक रलध्दि-रपन्य 
कयाबर्शनि उत्सजर्शक बनि जयाएगया?

A 2030

B 2029

C 2028

D 2027

Answer A

Id 92

Question How many 'Sewa Service' trains flagged off by Railways Minister Piyush 
Goyal connecting small towns to major cities?
छकोटसे रहरकोसं कको पपरम लखि रहरकोसं ससे जकोडनिसे कसे  नलए रसेल मसंतपररी परीयपष गकोयल निसे नकतनिरी 'ससेरया 
सनरर्शस' टपरलैनि कको हररी झसंररी नदिखियाई ?

A 5

B 6

C 7

D 9

Answer D 



Id 93

Question In which city, First India-Bangladesh Stakeholders' meet was held?
पपरथम भयारत-बयासंग्लयादिसेर नहतधयारककोसं करी बलैठक नकस रहर मर आयकोनजत करी गई थरी?

A Jaipur 
जयपलर 

B Surat 
सपरत 

C Hyderabad 
हलैदिरयाबयादि 

D Guwahati 
गलरयाहयाटरी 

Answer D

Id 94

Question Which country will host the inaugural edition of the new expanded 24-
team FIFA Club World Cup in 2021?
कचौनि सया दिसेर २०२१ मर निए नरस्तयानरत २४-टरीम फिरीफिया कलब नरश्र कप कसे  पहलसे ससंस्करण करी
मसेजरयानिरी करसेगया?

A China  
चरीनि 

B Qatar 
कतर 

C Belgium 
बसेनल्जयम 

D USA
यपएसए 

Answer A 



Id 95

Question Who has been given additional charge of Expenditure Secretary?
नकससे व्यय सनचर कया अनतनरकत पपरभयार नदियया गयया हलै?

A Atanu Chakraborty 
अतनिल चकप ररतर्ती 

B Ajay Kumar
अजय कल मयार 

C Rajiv Kumar
रयाजरीर कल मयार 

D Ajay Bhushan Pandey 
अजय भपषण पयासंरसे 

Answer A 

Id 96

Question Ravinder is related to which sports?
रनरसंदिर नकस खिसेल ससे ससंबसंनधत हलै ?

A Wrestling 
कल श्तरी 

B Badminton 
बलैरनमसंटनि 

C Wushu 
रलरल 

D Tennis 
टसेननिस 

Answer A 



Id 97

Question Who has been appointed as Ambassador of India to UAE?
नकससे यपएई मर भयारत कसे  रयाजदिपत कसे  रूप मसे ननिय लकत नकयया गयया हलै ?

A Pavan Kapoor 
परनि कपपर 

B Girish Chandra Murmu
नगररीर चसंदिपर म लमपर्श 

C Radha Krishna Mathur
रयाधया कर ष्ण मयाथलर 

D Satya Pal Malik 
सत्य पयाल मनलक 

Answer A 

Id 98

Question Rafael Grossi has been appointed as the Director General of International 
Atomic Energy Agency (IAEA). He is from which country?
रयाफिसे ल गपरडॉसरी कको असंतरयार्शष्टपररीय परमयाण ल ऊजयार्श एजरसरी (आईएईए) कसे  महयाननिदिसेरक कसे  रूप मर 
ननिय लकत नकयया गयया हलै| रह नकस दिसेर ससे हलै?

A Austrai 
ऑनस्टपरयया 

B Poland 
पकोलहर 

C Argentina 
अजर्जेंटरीनिया

D Ethiopia 
इनथयकोनपयया 

Answer C 
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Question What is the name of Veteran CPI leader and former lok Sabha Member 
who has passed away recently?
रयकोररध्दि सरीपरीआई निसेतया और पपरर्श लकोकसभया सदिस्य ग लरुदियास दियासग लप्तया कया नियाम कयया हलै नजनिकया
हयाल हरी मर ननिधनि हको गयया हलै?

A Gurudas Dasgupta 
गलरुदियास दियासग लप्तया

B Viju Khote
नरजल खिकोटसे 

C K P S Menon
कसे  परी एस मसेनिनि 

D Dr H L Trivedi 
रडॉ एच एल नतपररसेदिरी 

Answer A 
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Question What is the name of Former Karnataka Lokayukta who has passed away 
recently?
पपरर्श कनियार्शटक लकोकयाय लकत कया कयया नियाम हलै नजनिकया हयाल हरी मर ननिधनि हको गयया हलै?

A Farook Khan
फियारूक खियानि 

B K B Siddaiah 
कसे  बरी नसदलैयया 

C Kalidas Karmakar 
कयानलदियास कमर्शकयार 

D N Venkatachala 
एनि ररकटचलया 

Answer D 


